-

TUPE ZVARY

NEPODLOFENY 1-ZVAR
=1 a3 mm

PODLOFENTY 1-ZVAR
1=2 a5 mim

l=ZVAR S PODLOZKOU
1= 3 ak 5 mm
b=y

LEMOVY 1-ZVAR
L= 3 mam
b= a2 mm
¢ =0 a2 2 min

NEPODLOZENY V-ZVAR
1= 3 a2 20 mm
b=2az3 mm
c=1& 2 mm
o= )
PODLOZENY V-ZVAR
b=t ak ] mm
=3 a4 mm

Ve VAR S PODLOZKOU
1= 4 mam
b= 4 ak 7 mm
o= 20

X-ZVAR
1= & ad 10 mm
h=sif2
b=2a3 mm
c= ] a2 mm

@y = o= 60°

U-ZVAR
1= 15az 41 mm
b=2a3 mm
c=2a3 mm
o= TR

PODLOJENY U-ZVAR
1= 40 mm
b= b gk 1 i
¢ =3 a2 4 mm
y=1r4
o= 207

K-ZVAR
1= 12 af 40 mun
b=1 a3 mm
c= 1wkl mm
o = 500

DVOISTRANNY L-ZVAR
b= 30 a4 i
r= | u 2 mm
c=2ak 3 mm
h=1/2 a¢ 1/3

o= 220

1/ 2V-EVAR
= 4wk 15 mm
b= 2 gk 3 i
¢=1 a2 mmn
i = G

1 /2ZU-ZVAR
=15 mm
b= 1 a¢ I mm
=1 a2 mm
= |%* .

PODLOZENY
¢=2at 3 mm



